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Year 8

Question 1

How many faces does a triangular prism have?
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 2
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Triangle ABC is isosceles and has a 

perimeter of 20 centimetres.
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Sides AB and AC are each 

twice as long as BC.

Calculate the length of the side BC.
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 3



A + B = 10



A x B = 24



A – B = 2

What are the values of A and B?

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 4

A cube has a volume of 64 cm3.  What is its total surface area?

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 5

A, B and C are three different prime numbers greater than 3.


A x B x C = 1001

Find A, B and C.

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 6

If
 a = 2, 
b = 3
,
 c = -1  
and
 d = 0

Work out the value of

a2 + b3  + c4 + d5
Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 7
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The diagram shows 4 identical 

shaded triangles in a rectangle.

[image: image17.jpg]Spot the shapes 2

1. How many triangles
can you count?

2. How many squares
can you count?

3. Draw your own diagram to count triangles.
Don't use too many lines!
How many triangles can a friend find?
Can you find more?

Teaching objectives

Solve mathematical problems or puzzles. 58
Visualise 2-D shapes.

Explain methods and reasoning.

© Crown copyright 2000




The rectangle measures 36 cm by 24 cm.

Calculate the area of one shaded triangle.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 8


This square is divided into three parts.

Part A is [image: image2.wmf]3

1

 of the area of the square.

Part B is [image: image3.wmf]5

2

 of the area of the square.

What fraction of the area of the square is part C?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 9

This pie chart shows the lunch choices

of year 8 children at a school.

28 children in year 8 have a school meal.

How many go home for lunch?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 10

The diagram shows a right-angled triangle and three parallel lines.
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Calculate the size of angle x and angle y

 

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 11

This diagram is not drawn to scale.

A and B are two points on the graph of y = x + 5

Write in the missing co-ordinates of A and B.


A (       , 9)

B ( -8,       )

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 12


F is the centre of a regular pentagon.

Work out the value of angle x.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 13

What fraction is exactly half-way between [image: image5.wmf]5

3

  and  [image: image6.wmf]7

5

?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 14

There are six balls in a bag.

The probability of taking a red ball out of the bag is 0.5

A red ball is taken out of the bag, and put to one side.

What is the probability of taking another red ball out of the bag?
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 15


Triangle ABC is equilateral. 

Calculate the size of angle x.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 16

What is the value of x in this equation?


5x  –  10  =  x  +  46

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 17

12 500 people visited the museum in 2005.

This is an increase of a quarter on 2004.

How many visitors were there in 2004?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 18
The shaded shape ABCD is a square.

What are the co-ordinates of D?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 19

In a survey, the ratio of the number of people who preferred milk chocolate to those who preferred plain chocolate was 5 : 3

40 more people preferred milk chocolate, to plain chocolate.

How many people were in the survey?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 20


A cuboid has a square base.

It is twice as tall as it is wide.

Its volume is 250 cubic centimetres.

Calculate the width of the cuboid.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 21

Lili and Julian each start with the same number.

Lili works out half of the number.

Julian works out three-quarters of the number.

The sum of their answers is 275

What was the number they started with?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 22

The sum of two numbers is 5.

The difference between the numbers is 0.5

What are the numbers?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 23

Write a fraction in the form      a  

                                                    b

which is half way between 0.7 and 0.71

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 24 

Sarah makes a pie chart to show the proportion of boys and girls in her class; this is the table she used.

	
	Number
in class
	Size of angle
on pie chart

	Boys
	14
	144°

	Girls
	21
	216°


The next day another boy joins the class.  Calculate the angle for the boys on the new pie chart she would have to draw.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.

LOR Maths Challenge

2006

Year 8

Question 25

Two families go to the cinema.

One family buys tickets for one adult and four children and pays £19.

Another family buys tickets for two adults and two children and pay £17.

What is the cost of one child's ticket?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 26

Twelve rectangles, all the same size, 

are arranged to make a square, 

as shown in the diagram.

Calculate the area of one of the rectangles.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 27

A, B and C stand for three different numbers.

The mean of A and B is 40

The mean of B and C is 35

A + B + C = 100

Calculate the values of A, B and C.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 28

80% of the children in a class like crisps.

75% of the children who like crisps also like chocolate.

In the class, what percentage of the children like both crisps and chocolate?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 29

This four digit number is a square number.

Write in the missing digits.
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Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 30

This number sequence follows the rule

‘subtract 10, then divide by 10’

Write the number missing from the sequence.
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Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 31

At what time of what day will it be 2000 seconds after the start of the year 

2000?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 32

Use each of the digits 1 to 5 once.

Replace each letter by one of the digits to make the total in each circle the same. 



Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 33


How many triangles can you count?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 34

Last year my age was a square number.

Next year my age will be a cube number.

How old am I now?

How long must I wait until my age is  both a square number and a cube number?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 35

What is the sum of this sequence of numbers?


1 – 2 + 3 – 4 + 5 – 6 + . . . . . .+ 99 – 100 

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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